6.3 Solve Multi-Step Inequalities

                      Name:  ____________________________________


Set – 

Solution Set – 

Ways of writing the solution set:
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Interval notation:





Interval notation:
Set-builder notation:





Set-builder notation:
Ex. C.    
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Ex. D.      
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Interval notation:





Interval notation:

Set-builder notation:





Set-builder notation:


Solve on notebook paper. Write your solutions on this page and graph.  Write the solution set using interval notation (except #1 & #9) and set-builder notation. 
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#16 – 22: Identify your variable. Represent each with an inequality and solve. For #18 – 22, write the answers in complete sentences. Be sure to answer the question that was asked.
16.  Three fourths of a number is at most -24.

17.  The visibility at the airport is no more than twelve miles.

18.
At the masters, Tiger needs to shoot at most a total of 288 to make par or better.  His first three rounds were 78, 63, and 71.  What must he shoot in his final round to make par?

19.
Suppose you earn $10.50 per at bat for your baseball team.  You want to earn at least $300 to pay for a new PlayStation2.  How many at bats must you have to reach your goal?

20.
Monica’s Microwave Repair Store charges $18.50 for the call plus $25 each hour.  Her customer says that the most he can pay is $90.  How long should Monica work for the customer?

21.
Keisha is planning to build a rectangular pen for her pig.  The pen must be 18 ft. wide with a perimeter of at most 198 ft.  What are the possible lengths she could use? 
22. 
A triangle has a height of 8 cm and a base that measures (x + 1) cm. If the triangle can have an area of no more than 44 square centimeters, what are the possible values for x?
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